 
 
 
Multiplier un nombre décimal par 10 – 100 – 1 000 
 
 
 

Entraine-toi : 

	47,1 X 10 =
	56,14  X 1 000 = 	
	147,3 X 10 =

	25, 742 X 10 =  
	4 ,56 X 10 =
	54,32 X 1 000 = 	

	42 ,369 X 100 =
	68,25 X 10 =
	4,36 X 1 000 =

	25,4 X 1 000 =  
	15,9  X 100=
	6,874  X 100 =  

	36,02 X 100 =  
	10,02 X 100 =
	9,1 X 1 000 =  


[bookmark: _GoBack]	 	 		 	 		 		Tu peux en faire d’autres sur ton ardoise. 	 		 
	 		 		 		 	 
		 			 	 
CORRECTION 

	47,1 X 10 = 470
	56,14  X 1 000 = 56 140	
	147,3 X 10 = 1 473

	25, 742 X 10 =  257,42
	4 ,56 X 10 = 45,6
	54,32 X 1 000 = 54 320	

	42 ,369 X 100 = 4 236,9
	68,25 X 10 = 682,5
	4,36 X 1 000 =  4 360

	25,4 X 1 000 =  25 400
	15,9  X 100= 1 590
	6,874  X 100 =  687,4

	36,02 X 100 =  3 602
	10,02 X 100 = 1 002
	9,1 X 1 000 =  9 100
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